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Quantitatif EXCEL 2003

TRI BLOC par CALQUE

Trier sur OBS8
Nom du BLOC

Quantitatif DEBIT
Poteaux-Traverses

0881 = longueur 1
0BS2 = Longueur 2
0883 = Angle découpe

OBS4 4 OBS 7 = Angles

0BS8 = Réf PROFIL

(NN - . AR P
1]2]3] H I | J | K 't [ m [ n | o | P |
1 TOTAL Longueur 1 Longueur 2 Angle découpe  Angle 1 Angle 2 Angle 3 Angle 4 RE&f Profil
[ [ -1 2] 1 1735.0 1 735.0 Découpe ANGLE 70° " 519354
-3 1 1735.0 1 735.0 Découpe ANGLE 70° " 519354
—| | 4 |Nombre 1735 2.0
[ - [ 5| 1 1958.0 1 958.0 Découpe ANGLE 70° " 519354
B P> 1958.0 1 958.0 Découpe ANGLE 70° " 519354
| 7| 1 1958.0 1 958.0 Découpe ANGLE 70° " 519354
| 8 | 1 1958.0 1 958.0 Découpe ANGLE 70° " 519354
ER 1 1958.0 1 958.0 Découpe ANGLE 70° " 519354
- |10 1 1958.0 1 958.0 Découpe ANGLE 70° " 519354
= |11 |Nombre 1958 6.0
[ - [12] 1 1630.0 1630.0 " 519354
113 | 1 1630.0 1630.0 " 519354
|14 | 1 1630.0 1630.0 " 519354
- |15 1 1630.0 1630.0 " 519354
= |16 |Nombre 1630 4.0
[ - [17] 1 1840.0 1840.0 " 519354
|18 | 1 1840.0 1840.0 " 519354
119 | 1 1840.0 1840.0 " 519354
20 1 1840.0 1840.0 " 519354
|21 1 1840.0 1840.0 " 519354
|22 | 1 1840.0 1840.0 " 519354
| 23| 1 1840.0 1840.0 " 519354
|24 | 1 1840.0 1840.0 " 519354
| 25 | 1 1840.0 1840.0 " 519354
| 26 | 1 1840.0 1840.0 " 519354
| 27 | 1 1840.0 1840.0 " 519354
| 28 | 1 1840.0 1840.0 " 519354
|29 | 1 1840.0 1840.0 " 519354
- |30 1 1840.0 1840.0 " 519354
= |31 |Nombre 1840 14.0
[ - [32] 1 25180 25180 " 519354
- |33 1 25180 25180 " 519354
= |34 |Nombre 2518 2.0
[ - 35 1 31400 31400 " 519354
- |36 1 31400 31400 " 519354
= |37 [Nombre 3140 2.0
[ - 38 1 3589.0 3589.0 " 519354
- |39 1 3589.0 3589.0 " 519354
= |40 |Nombre 3589 2.0
[ - [41] 1 45170 45170 " 519354
- 42| 1 45170 45170 " 519354
= |43 |Nombre 4517 2.0
[ - 44 1 5 206.0 5 206.0 " 519354
45
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